iSllN!)VH:

Hitch Installation Instruction

REV.20240501
Part# HT-R34015 | Application For 2010-2016 Cadillac SRX
Hardware | Item Part Name QTY Description ltem Part Name QTY Description
L 1 |HexBolts 6 |M12X1.75-30 2 | Conical Washers 6 |M12

Gross Load Capacity When Used As A Weight Carrying Hitch: 5000 LBS. Trailer Weight & 500 LBS. Tongue Weight.
Gross Load Capacity When Used As A Weight Distribution Hitch: 6000 LBS. Trailer Weight & 600 LBS. Tongue Weight
***DO NOT EXCEED VEHICLE MANUFACTURER’S RECOMMENDED TOWING CAPACITY. ***

* No Trimming Required

* No Drilling Required

WELD NUTS

DRIVER SIDE
FRAME RAIL

FASCIA SUPPORT
BRACKET (1) EACH SIDE

(2) EACH SIDE

\ UNK PAN

FASCIA FASTENER —

TRUNK PAN

BUMPER BEAM

ey

TRUNK PAN NUT
(1) EACH SIDE

PASSENGER SIDE
FRAME RAIL

REAR FASCIA

CENTER FASCIA
PANEL

FASCIA SCREW
(1) EACH SIDE

are not responsible for any damage caused by the installation. Thank you for choosing our product!

[ The instruction here is for your reference only. We strongly recommend the professional installer for best result. We

~

Pagel of 3




Hitch Installation Instruction

gsmamq

Part# HT-R34015 | Application For 2010-2016 Cadillac SRX

Step Description

Using a phillips screw driver remove (2) screws securing the center fascia panel. Release center fascia panel tabs and
remove panel.

2

3 Using flat blade screw driver remove (4) plastic push fasteners securing the rear fascia to the fascia support brackets.
Using a 10mm socket remove the (2) nuts securing the fascia support brackets to the trunk pan.

4 Pull down on rear fascia and remove fascia support brackets. The second photo shows the hardware removed.
Note: Use masking tape to protect vehicle finish. Brackets will be reinstalled in Step 6.

Vs

The instruction here is for your reference only. We strongly recommend the professional installer for best result. We
are not responsible for any damage caused by the installation. Thank you for choosing our product!

~

Page2 of 3



Hitch Installation Instruction

Part# | HT-R34015

Application

For 2010-2016 Cadillac SRX

Raise hitch into position and secure using M12-1.75 x30mm bolts and M12 conical washers.
5 Note: Slide the driver side plate between the wiring harness and the driver side frame rail. You may need to pull down
on rear fascia to slide hitch between the trunk pan and fascia.

6
7 Hitch installed properly. Return center fascia panel and fasteners to owner.
8 Installation is now complete.

HITCH SHOWN INSTALLED

***Periodically Check The Receiver Hitch To Ensure That All Fasteners ***
Are Tight & All Structural Components Are Sound.

Vs

The instruction here is for your reference only. We strongly recommend the professional installer for best result. We
are not responsible for any damage caused by the installation. Thank you for choosing our product!

~

Page3 of 3



